


MATHECMATICS By Pradeep Sir

pavr ( Vi Q. 1) The sum of ages of father and son is 56
—— - Jd years. After 4 years fath‘e’r's‘age will become
At wy (F+9) = 5c4g-¢,  thrice of his son's age. Their ages are?
U® fUdr ud 39S YT P Y &1 91T 56 a4 71 4
Aftany: £ @ s aﬁm.ﬁmaﬁmmgajﬁsngaﬁsgﬁ
Sf. 2 A g’[q_@|3q'qﬁangm; -
SRR+
& -H\a (:) 16yr/'a'5fa'¢l144yr/a‘f
ﬁ'; (C) 16 yr/ T4 GUT 42 yr / qY
- O ”?/“‘1“‘33 (D) 18 yr / 9§ TYT 36 yr/ qd
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— Q. 3) A librarian purchased 50 story-books for his
Moo imiy = x oldhsg 3 Ayl Topa *Tfibrary. But he finds that he could get 14 books
36 = l4rx—ixgy more by spending 76 more so per book aver- age
becomes ¥1 less. The average price (in) of each

[Y< = )yao
book he bought, was.

G et TS e 3 S e 6 s0 A
Hlard @Wiitgar g1 Afb= 3/ va1 2 f5 a8 7 76 R
&4 % a8 14 frard e @de goar & R
ufa frara sftwra qea 21 HH 81 ofaT @, ot 39S gR
@ TS ud® fpdare &1 3 d gou §1d B
(A) 15 (8)25
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Q. 4) Find the co-ordinates of a point which
- 312 ) divides the line segment joining the points
(¢,2 ) (--,,5) (6,2) and (- 4,5) in the ratio 3: 2 externally.
fa=gait (6,2) 3R (-4,5) # fra= are YErRavs
218 5y ® 3:2 H 9@ fauod & a fag &
M \3"* =i 1a B3 2
< ) (A) (3, 11)
((®) (-24,11))
(C) (7. 9)

(D) (8, 7)
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Q. 5) An arc AB of a circle Subtands an angle x¢ at
the centre O of the circle. Given that the area of the
sector AOB is equal to the square of the length of

the arc AB. find the value of x.

TP J9 $T AU AB 0 & &% 0 W x° BT HI0T
LEICI ﬁWIEUSAOBmmmABQf
mi%aﬂ%mv%a’fxmmmaﬁl

GO) o

(@) G)C (D) None
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Q. 6) What is the number of offices in which
the number of employees of the company is

between 350 and 650?
39 Ul F PATAT] B ST AT & o 9H 350
¥ 650 F 49 FHARI & ?

“3sy
o 5 dugm (RN

(A)1 =6 \g;-""%
C = &Wb —
(C) 2 A
D 49
- Mi_g.: Coot/ £ - Yvux 12
E An. - Skt
—
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Q. 7) If the percentage of male employees in
office C is 20% and that of female employees
in E is 40%, then what is the ratio of the
number of female employees in C to that of

female employees in E?

afe raferd ¢ & qey FHaival 1 ufawd 20%
€ 9T E ® Afgean sHarival 1 yfawrd 40% 2,
¢ # nfgen sHial ot wen R E & wlgen
m@aﬁmmmwé?

(B) 5:4

(C) 2:3 (D)3:8
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HoortRE, Y Q -
x§5x "':6»—)336 16
2 J

B = Ruworid < 190+163 - 9p
8

I.zo
C: &mx‘ i;gj S 360
-

Q. 8) If 40% of the number of employees in

office A are shifted equally to office B and E,

then what is the dif- ference between the

number of emplyoees in B and that in C?

U® PG A S FHAIRG! Bl AT & 40% B
Prafed B 3R £ A wraR B w@ § Wik

e Y foar &ar 2, ot B aﬁvcﬁmﬂtﬁaﬁ
‘68mﬁmmam%7

(C) 82

(B) 120
(D) 130
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Q. 9) Find the ratio of the area of the sector

between the office B and C and the office D

and E.
PUEGT B I C dYT PG D  E & HY

Peuds & gawdl ®1 U 7id DI
(A)4:5
(B)5:9

( (C)4:§>

(D) 6:7
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s- 2  Ir-
T 7L " 8§
Q. 10) A boy plants a bomb at a place and starts
R-s 3 <> running at 30 m/sec. After 56 sec the bomb was
R-s o @ blast. In how much time the~sound of blast will be
30 % & listened by the boy if the speed of sound is 450
o R - =
7 a m/sec.?

T T & q1¢ TP aed A 30 HL/A. B T9 @
WA 3R faa ssﬁmmmwwum

D = J0r$E mi

R'S= 4gonluc > 6 el g 412 e P a5 Bed P A
o @ W?ﬁ?w?ﬁaﬁmuoﬁtr@ gl
- (A) 7 sec./ 9. :

ATy
—H— (C) 8 sec./ W.
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Q. 11) G is controid of given AABC. GN = 4 cm,
GM = 3 cm, £BGA = 90°, then find the length

of GC.

f&d M fAiys ABC &1 F=® 21 GN = 4 I,
GM = 3 UH. dY4T / BGA = 90° §, d GC &l

AT JTd P 2

(A) 6 cm.

(C) 5cm.
(D) 9 cm. B = C
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=
A
WA 0 ex,

. P Q. 12) Two pillars A and B of the same height are

on opposite sides of a road which is 40 m wide. The

x (6o w§ (40_1) angles of elevation of the tops of the pillars A and
L h 30 wg B are 30° and 45° respectively, at a point on the
- | -
5 = &J, 8 road between the pillars. What is the distance (in
4-0~X)

m) of the point from the foot of pillar A?
5‘%=(‘“’*) A STE P EHATBUH 40 W, TS ASF &
a’ﬁfaﬁﬂa@?l e ¥ frdi g 3w M &

=S = 4o
"R dos (E-l) maﬁmm 30°ah745°%|Aaﬂﬁwﬁ'—g
Q‘s‘l_gxzqo Q(‘ﬁ"") &) F g

‘113 (13- .) (A) 40(v/3 — 1)m (B) 20(2 — vV3)m

o|2-~ @ GC) 20(3 — ﬁ)D ) EENER
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" ‘j’ 1o |}§ = Q. 13) Let N is the least number of 6 digits,
N Sr2
> which when divide by 4, 6,10 and 15 leaves the

remainder 2 in each case. Find the sum of
6O j | 00000 . e .
co $¢¢  digitsin N.

%00 meﬁﬁqemaﬁ_ﬁ_ﬂmmném
o 4, 6,10, 15 ¥ W 3 W ¥k g A 2 W9
100020 3o 3Tt 1 N & i) PTG B-

N
(C) 4 (D) 6
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X S(s-R) (s-8) (s-t)

J ISX Er5r Yy

YE’\B&})\%*§ RN,

BEx3rxax i

Q. 14) What is the area of the triangle whose

sides are 9cm, 10cm and 11cm?

39 AYs &1 dawa 1 gh @t YW 9
Jt, 10 9 3R 11 Tt €1

(A) 30 cm?

(B) 60 cm? S = a‘:;”'f
(iC)30\/—2_cm2 }) 3 Q4 ol t@
(D) 602 cm? S\
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Q. 16) A started a business and invested: 2,000. After

A B C 3 months, B invested 4,000 in that business and C

2000 4000 T invested: 10,000 only for 2 months. If the profit after
! 1 year is 5,600 then find out their individual profits?

2R %8 R A'Y U AUR 2000 IUY AP R | F9

Rhese  3bwe M TR G B A Wl 39 AUR H 4000 FUY T C 1

& o T3] 10000 UL Had 2 & fog @ afe ad & o<1 |

mseogwﬂﬁ Il BT S-S ATH [
?

=y gﬁh
A - =y X6 = )¢R o (A) A-1680, B-2520, C-1400) -5t )\Twﬁ

(B) A-1400, B-2520, C-1680

W6
& - S6u0 4 3 (C) A-1680, B-1400, C-2520 |
== K] =250 \Q) None of these / $-TH J I3 6l

Rz
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o) Ny
Jog (2
103 0y
1oy 0y
|05 s
ot ¢
(o( 13
103 "R

"o l&o

Q. 17) What percentage of the numbers from
101 to 1000 have 9 in the unit’s digit ?

101 ¥ AT 1000 9F Bt F@st # fHa-t
yfarerd Sl § SIS PTIAB 9§ 2

-

(B) 12%

(C) 20%

(D) 15%
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" K Q. 18) A coin is tossed twice. The probability
of getting head both the times is

S wﬁma’rmmm%laﬁfm!ﬁﬁ

T, H 3 Pt WS aT 8
! ( —
H, T @

(0 b
(D)1




MATHCEMATICS By Pradeep Sir

Q. 19) By selling 32 oranges for a a man loss

| %R0 40%. How many for a rupee did he sell to earn
14 20%
C—« ? 1% 32 ¥R I R T I B 40% P
g Bl 81 20% @Y A & forg @1 # IA
cr e W 37 U3 2
(A) 15

@ (B) 22

(C) 18

ST —— — e

QLD
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Toha 3= g9
2925 = |45 Q. 20) In an examination, the number of those

P f f who passed and the number of those who
Q5% 4x]| P £ failed were in the ratio 25: 4. If 5 more had
I ’ appeared and the number of failures were 2

+ 7 -3 less than earlier, the ratio of students who
+7 -~ passed to the number of students who failed

O S | ‘22% - would have been 22 : 3. Find the total number

3 who appeared at the examination.
Xx41, 93 | Axmes. U GRIGT H U §11 ATl &1 S BT B g

3 ftan & B auT Ba g7 aral B
2 ®H gidl, 91 g FUd 22 : 3 glall

J{ A ded ael s @I - 00—
i (A) 145 T (B) 150y
( SS)(

(») 180)0

4= 3 N3 aTal B YW= ¥ U 25 : 4 4TI TS UT" 3R
SECs |
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Q. 21) Deepu earns an interest of 2880 on a certain
sum when it is invested for 3 years offering R%
simple interest per annum. B earns an interest of
4000 on a certain sum when it is invested for 5
years offering R% simple interest per annum. Sum
invested by Deepu is what per cent more than that
invested by B?

mwi%fémwﬁug: 2880 BT &qTal 3fford
HYdl ¢ 9d 98 YA R% Uid 9¥ ATYRU &9 W 3
asl & fr # ot 21 g @ i
¢RI U ¥ 4000 HT TS UI Hdl & 99 dg
YRI R% Widayd WIYRU &9 WY 5 9l & fore
e &t sl 81 dig g1 FafRE a=iRr it
g1l 3 yferera 3iftre 8 2

N 66§% (B) 33§%

(S D) 207
E\
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\ Q. 22) The simplified value of (g - 17—0 ()f%) : % —
o2
do 3 7 .40l 71\ 5.
ix 4o 5 (,( ) .3{)_( (16 102X75)x1215
- R R ==2pr22
5 T4 \ted, 55
-4 8 }/ 7.9 '.3)_4_(i;1()l 7l)xia;[
(;—I—QJZ 3 16 . \2 5 12
|
6- ' WAlpd AF © -
39
“ 49 44
()5 (D)
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Q. 23) Find the range for the fallowing observation.
fFafeiRad e &1 R J1d SISl
©,,) |

(C) 90 (D) 65
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5 Sime- CosO:|
Sive Siqe Simo

5- Coto :CO')QC.O

5 = (s2€¢94+CokO

Q. 24) If 5sin6 cos® = 1 and xsin® + cose = 1

: then the value of 5x - 1 is:
X S0 +Cosp - )

Simo Gie Smelfe 5sin6- cose = 1 3X xsine + cose = 1 ¥ 5x

X + Coto = Gecel BT HIH FT BT ?
Xz Colne ©-Cot®

x - A 24 Gorso -cate s x
Corco +WtOs
L
=l (30 (ot®
SiMo
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£-A -1t | Q. 25) A, B and C can do a work separately in 16, 32
w and 48 days respectively. They started the work
2 -6 -3> together but B leaving off 8 days and C six days
beofre the completion of the work. In what time is
L-C - 4t Leem= o¢ the work finished?

8 > + 94 A B3R CUP B B AT AT HHA: 16, 32 3R

+ 1 48 AT A BT UPA 21 T WIY-TTY BT ARYH FIQ 8
12 fr=g B ®rd wTE g1 | 8 a7 wgd ok c 6 &
A Ugd B4 BIS a1 21 B fbaa =1 & R ganm?

& D\:D (A) 10 days/fe=1 (B) 9 days/fe
N

(o) P- days/ﬁ’l (D) 14 days/ﬁ"T

R —




